<?xml version="1.0" encoding="UTF-8"7>
<ClinicalDocument xmlns="urn:hl7-org:v3” xmlns:xsi="http://www. w3. org/2001/XMLSchema—instance”
xsi:schemaLocation="urn:hl7-org:v3 .. /XSD/hc08 VO08. xsd”>
<typeld root="2.16.840.1.113883.1.3” extension="POCD_HD000040"/>
<id nul IFlavor="NI"/>
<code code="10" codeSystem="1.2.392.200119. 6. 1001"/>
<effectiveTime value="20120418"/>
<confidential ityCode code="N"/>
{recordTarget>
<{patientRole>
<id root="1.2.392.200119.6. 101" extension="00221200"/>
<id root="1.2.392.200119. 6. 204" extension="&%0 2"/>
<id root="1.2.392.200119. 6. 205" extension="2"/>
2addr><pgsta | Code>200-2002</postalCode>F# | B &R TRZXEXNET 2R 227 P 3 > 2</addr>
patient
<name>t A K€ ></name>
<administrativeGenderCode codeSystem="1.2.392.200119.6.1104" code="1"/>
<birthTime value="19500321"/>
{/patient>
{/patientRole>
{/recordTarget>
<author>
<time value="20120418"/>
<assignedAuthor>
<id nul IFlavor="NI"/>
{representedOrganization>
<id extension="2210000200" root="1.2.392.200119.6.102"/>
<name>2 7 1) = 7 </name>
<telecom value="tel :0540000002" /> )
<addr><postalCode>200-0201</postalCode>E¢[E B EFETHEZX X BT 2 X M L #5284R8 £ )L 2 fE</addr>
{/representedOrganization>
</assignedAuthor>
</author>
{custodian>
<assignedCustodian>
<{representedCustodianOrganization>
<id nul IFlavor="NI"/>



{/representedCustodianOrganization>
</assignedCustodian>
</custodian>
{participant typeCode="HLD">
EfuncgionCode code="1" codeSystem="1.2.392.200119. 6. 208" />
time
<high value="20130331"/>
</time>
<associatedEntity classCode="|DENT">
<id extension="12100000002" root="1.2.392.200119.6.209.100221101"/>
<{scopingOrganization>
<id extension="00221200" root="1.2.392.200119.6.101"/>
<{/scoping0rganization>
{/associatedEntity>
{/participant>
<{documentation0f>
<{servicekvent>
<code code="010" codeSystem="1.2.392.200119.6.1002” displayName="4FFREZIEHR"/>
<effectiveTime value="20120417"/>
<performer typeCode="PRF”>
<assignedEntity>
<id nul IFlavor="NI1"/>
{representedOrganization>
<id root="1.2.392.200119. 6. 102" extension="2210000200"/>
<name>2 7 1) = 7 </name>
<telecom value="tel :0540000002"/> X
<addr><postalCode>200-0201</postalCode>E%[E B FFRETHEZX X BT 2 X M L #5284R8 £ )L 2 fE</addr>
{/representedOrganization>
<{/assignedEntity>
<{/performer>
{/serviceEvent>
</documentation0f>
<{component>
<{structuredBody>
<{component>
<{section>
<code code="01010" codeSystem="1.2.392.200119.6.1010” displayName="1&2 & - BEZERE I 3> />
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{text/>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="9N001000000000001” displayName="5E&"/>
<value unit="cm” value="172.7" xsi:type="PQ”/>
{interpretationCode code="N"/>
<{referenceRange>
<observationRange classCode="0BS” moodCode="EVN. CRT">
<value xsi:type="IVL_PQ">
<low unit="cm” value="100.000"/>
<high unit="cm” value="220.000"/>
<{/value>
<{/observationRange>
{/referenceRange>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="9N006000000000001” displayName="{KAE"/>
<value unit="kg” value="65.8" xsi:type="PQ"/>
{interpretationCode code="N"/>
{referenceRange>
<observationRange classCode="0BS” moodCode="EVN. CRT">
value xsi:type="IVL_PQ">
<low unit="kg” value="25.000"/>
<high unit="kg” value="150.000"/>
<{/value>
<{/observationRange>
{/referenceRange>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="9N011000000000001” displayName="BMI”/>
<value unit="kg/m2” value="22.1" xsi:type="PQ”/>
{interpretationCode code="N"/>
{referenceRange>



<observationRange classCode="0BS” moodCode="EVN. CRT">
value xsi:type="IVL_PQ">
{low unit="kg/m2” value="18.500"/>
<high unit="kg/m2” value="24.900"/>
<{/value>
<{/observationRange>
{/referenceRange>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="9N016160100000001” displayName="fEE (Z=H]) “/>
<value unit="cm” value="84.0" xsi:type="PQ"/>
{interpretationCode code="N"/>
<methodCode code="9N01610000"/>
{referenceRange>
<observationRange classCode="0BS” moodCode="EVN. CRT">
value xsi:type="IVL_PQ">
<low unit="cm” value="40.000"/>
<high unit="cm” value="84.000"/>
<{/value>
<{/observationRange>
{/referenceRange>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="9N056000000000011” displayName="BX{EREE"/>
<value code="1" codeSystem="1.2.392.200119.6.2001” xsi:type="CD"/>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="9N056160400000049” displayName="BE{RZEEERE"/>
value xsi:type="ST">&% Y</value>
<{/observation>
{/entry>



<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="9N061000000000011” displayName="BEEFEIR"/>
<value code="1" codeSystem="1.2.392.200119.6.2001” xsi:type="CD"/>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="9N061160800000049” displayName="BEFEIXFTR"/>
value xsi:type="ST">&% Y</value>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="9N066000000000011” displayName="#hEFEIK"/>
<value code="1" codeSystem="1.2.392.200119.6.2001” xsi:type="CD"/>
<{/observation>
<{/entry>
<entry>
<observation classCode="0BS” moodCode="EVN">
<code code="9N066160800000049” displayName="#hERFR"/>
value xsi:type="ST">&% Y</value>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<{code code="9A755000000000001" displayName="UFEHAMM £ (FD1th) " />
<value unit="mm[Hg]” value="113" xsi:type="PQ”/>
<methodCode code="9A75500009" />
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<{code code="9A765000000000001” displayName="¥L3EHAMM T (FD1th) " />
<value unit="mm[Hg]” value="73" xsi:type="PQ"/>
<methodCode code="9A76500009"/>
<{/observation>



{/entry>
<entry>»
<observation c¢lassCode="0BS” moodCode="EVN"> ‘
<code code="3F015000002327101” displayName="®t4igkF (FU ST YL K) “/>
<value xsi:type="CD" code="H"/>
{interpretationCode code="H"/>
<methodCode code="3F01510000"/>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="3F070000002327101” displayName="HDLa L XTFB—JL"/>
<value xsi:type="CD" code="L"/>
{interpretationCode code="L"/>
<methodCode code="3F07010000"/>
<{/observation>
<{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="3F077000002327101” displayName="LDLa L XTFB—JL"/>
<value unit="mg/dL” value="102" xsi:type="PQ"/>
<methodCode code="3F07710000"/>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="3B035000002327201” displayName="GOT (AST) “/>
<value unit="U/L” value="31" xsi:type="PQ"/>
<methodCode code="3B03510000"/>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="3B045000002327201” displayName="GPT (ALT) />
<value unit="U/L” value="38" xsi:type="PQ"/>
<methodCode code="3B04510000"/>
<{/observation>



{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="3B090000002327101” displayName="y -GT (y -GTP) “/>
<value unit="U/L” value="71" xsi:type="PQ"/>
<methodCode code="3B09010000"/>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="3D010000001926101" displayName="2CRER5Mm#E"/>
<value unit="mg/dL” value="97" xsi:type="PQ”/>
<methodCode code="3D01010000"/>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="3D045000001906202" displayName="HbA1c”/>
<value xsi:type="PQ” nulIFlavor="NI"/>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="1A020000000191111" displayName="FR#E" />
<value code="1" codeSystem="1.2.392.200119.6.2102” xsi:type="C0"/>
<methodCode code="1A02010000"/>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="1A010000000191111" displayName="FRERBR"/>
<value code="1" codeSystem="1.2.392.200119.6.2102" xsi:type="C0"/>
<methodCode code="1A01010000"/>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
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<code nul IFlavor="NA"/>
<entryRelationship typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="2A040000001930102" displayName="~< k& 1) MME"/>
<value unit="%" value="41.5" xsi:type="PQ"/>
{interpretationCode code="N"/>
{referenceRange>
<observationRange classCode="0BS” moodCode="EVN. CRT">
value xsi:type="IVL_PQ">
<low unit="%" value="38.500"/>
<high unit="%" value="52.800"/>
<{/value>
<{/observationRange>
{/referenceRange>
<{/observation>
<{/entryRelationship>
<entryRelationship typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="2A030000001930101" displayName="IMBEE (NEH OE {&)"/>
<value unit="g/dL” value="15.5" xsi:type="PQ"/>
<{/observation>
<{/entryRelationship>
<entryRelationship typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="2A020000001930101" displayName="7rMEk%L"/>
<value unit="10%4/mm3” value="500" xsi:type="PQ"/>
{interpretationCode code="N"/>
{referenceRange>
<observationRange classCode="0BS” moodCode="EVN. CRT">
value xsi:type="IVL_PQ">
<low unit="10%4/mm3” value="400.000"/>
<high unit="10%4/mm3” value="579. 000" />
<{/value>
</observationRange>
{/referenceRange>
<{/observation>
<{/entryRelationship>



<entryRelationship typeCode="RSON">
<observation classCode="0BS” moodCode="EVN">
<code code="2A020161001930149” displayName="BMmMEEEMER"/>
value xsi:type="ST">BM=EMmFE</value>
<{/observation>
<{/entryRelationship>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code nul IFlavor="NA"/>
<entryRelationship typeCode="COMP”>
<observation classCode="0BS” moodCode— "EVN™>
<code code="9A110160700000011" displayName="1{LEBX (FTRDEHE) "/>

<value code="1" codeSystem="1.2.392.200119. 6.2002” xsi:type="CD"/>

<{/observation>
<{/entryRelationship>
<entryRelationship typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">
<code code="9A110160800000049” displayName="1>EBXFR"/>
value xsi:type="ST">&% Y</value>
<{/observation>
<{/entryRelationship>
<entryRelationship typeCode="RSON">
<observation classCode="0BS” moodCode="EVN">
<code code="9A110161000000049” displayName="1>EXEHEIER"/>
<value xsi:type="ST" > ILER=ERF</value>
<{/observation>
<{/entryRelationship>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code nul IFlavor="NA"/>
<entryRelationship typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN">

<code code="9E100166000000011” displayName="ER/EHRE (F—RX DT F+—
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<value code="3" codeSystem="1.2.392.200119.6.2110” xsi:type="C0"/>
<{/observation>
<{/entryRelationship>
<entryRelationship typeCode="RSON">
<observation classCode="0BS” moodCode="EVN">
<code code="9E100161000000049” displayName="EREt & EEMER"/>
<value xsi:type="ST">EREZEF</value>
<{/observation>
<{/entryRelationship>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="9N501000000000011" displayName="A* &2 AKR1) v o <> kO—LFEIE"/>
<value code="3" codeSystem="1.2.392.200119.6.1008” xsi:type="CD"/>
<{/observation>
<{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="9N506000000000011” displayName="{R{EgEL ~N)L"/>
<value code="3" codeSystem="1.2.392.200119.6.3001” xsi:type="CD"/>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="9N511000000000049” displayName="[EEND il (FIE)"/>
<value xsi:type="ST">EK7%: L<{/value>
<author>
<time nul IFlavor="NI"/>
<assignedAuthor>
<id nul IFlavor="NI"/>
<assignedPerson>
<name>{#:Z KER</name>
</assignedPerson>
</assignedAuthor>
</author>
<{/observation>
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{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="9N701000000000011” displayName="ARZE1 (MmIE) " />
<value code="2" codeSystem="1.2.392.200119.6.2003” xsi:type="CD"/>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="9N706000000000011” displayName=" RZE2 (M%) " />
<value code="2" codeSystem="1.2.392.200119.6.2003” xsi:type="CD"/>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="9N711000000000011” displayName="fRZE3 (A8&E)"/>
<value code="2" codeSystem="1.2.392.200119.6.2003” xsi:type="CD"/>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="9N716000000000011” displayName="BX{EFE1 (INMmeE)"/>
<value code="1" codeSystem="1.2.392.200119. 6.2003” xsi:type="CD"/>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="9N721000000000011” displayName="BX{EFEE2 (L&) />
<value code="1" codeSystem="1.2.392.200119. 6.2003” xsi:type="CD"/>
<{/observation>
{/entry>
<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="9N726000000000011” displayName="BXExE3 (BF & - ALEMH) "/
<value code="1" codeSystem="1.2.392.200119. 6.2003” xsi:type="CD"/>
<{/observation>
{/entry>
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<entry>»
<observation classCode="0BS” moodCode="EVN">
<code code="9N736000000000011" displayName="HE2{E" />
<value code="1" codeSystem="1.2.392.200119. 6.2003” xsi:type="CD"/>
<{/observation>
{/entry>
{/section>
</component>
<{component>
<{section>
<code code="01990" codeSystem="1.2.392.200119.6.1010” displayName="{EFE B/NIEH"/>
<{text/>
{/section>
</component>
{/structuredBody>
</component>
</ClinicalDocument>
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